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3lease complete all questions in this paper to the best of your ability.

You should spend no more than � hour completing this paper.

8se the marks shown after each question �>[@� to give you an idea of how much to write for each 
answer. ��mark answers do not need any e[planation or much detail whereas higher�marked 
questions require a higher amount of detail.

:hen asked to explain, aim to make a point or suggest an idea and then e[plain what that means or 
why it is a good point, in detail. 

:hen you have completed the assessment you can use the mark scheme �sent with this paper� to 
find your .6� level� $lternatively� you can answer the paper and then either scan or photo the 
pages and send them to me for marking at KXPDQDtHHstXtor#JPDiO�FoP�

7he deadline for suEmission of this assessment is )riGDy 26th May and I
ll Ee marking the papers 
and returning them on the 27th May�  



(a) Complete the table above. [2]

 ............................................................................................................................................. [�]

(F) Give two ways in which agricultural progress effected the Industrial Revolution. 

 ...................................................................................................................................................

 .............................................................................................................................................  [2]

[Total: 5]

(E) Who developed this new form of crop rotation?

�� A table representing four-crop rotation�



 Explain two ways in which the Factory Act of 1833 made life better for child workers.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................  [4]

�� A photo of a child worker in an English mill�



�� A cartoon representing an English city�

(b) Which doctor discovered the cure for cholera and linked it to water"

 .................................................................................................................................... [�]

(a) Select two details from the source and explain how each led to an increase in disease.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................  [4]

[Total: 5]



 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ............................................................................................................................................. [��]

[Total: ��]

(D) :hat is the name of the curves shown here" 

�� 
The Industrial Revolution was a benefit to the world�
 'o you agree"

([plain your answer� $im to talk aEout both reasons for and against the statement, with examples 
of specific events, themes or people in the Industrial Revolution� Come to a justified conclusion at 
the end. 

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................




